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Instructions
For the following questions answer them individually

Question 1

If xy = 56 and x + y2 = 113, then what will be the va +y)?

A 29
B 21
C 36

D 15

Answer: D

Explanation:
Given : (2% + y?) = 113 and zy = 56

Using (z + y)? = 2% + y* 4
=> (z +y)? = 113 + (2 X 56)
=> m—l—y =113 +112 =22
=> (z+y) = V225|= 15

=> Ans -

Question 2

Ifa + b =11 and a2 + b? = 61, then value of ab is

A 12
B 96
C 24

D 30

Answer: D

Explanation:
Given: (a +b) =11 and a®? + b* = 61

Using (a + b)? = a® + b + 2ab

=> (11)2 = 61 + (2 x ab) Q
=> 2ab =121 — 61 =60

—>ab="2 =30

=> Ans - (D)

Question 3

If 4(2x -4) -2 > 3x -1 = 4x -7, then x can take whic llowing values?

o s ¢
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Answer: B

Explanation:
Expression 1:4(2x-4)-2>3x-1

=>8x—16—-2>3x—1

=>8x—3z>—-1+18
17
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Question 4
Factors of 4823 — 822 — 93z — 45 are
A (4x + 3)(4x -3)(3x-5)
(4x - 3)(4x - 3)(3x Q
B
-5)
(4x + 3)(4x + 3)(3x O
C
-5)
D (4x-3)4x + 3)(3x +5)

Answer: C
Explanation:
(A) : (4x + 3)(4x - 3)(3x - 5)
= (1622 — 12z + 12z — 9)(3z — 5)

= (1622 — 9)(3z — 5)
= 4823 — 8022 — 27z + 45
(B) : (4x - 3)(4x - 3)(3x - 5)
@45

= (162® — 24z + 9)(3z — 5)

= 4823 — 80z — 722 + 120z + 27z
= 48x3 — 15222 + 147z — 45

(C): (4x + 3)(4x + 3)(3x - 5)

= (162 + 24z + 9)(3z — 5)
= 48x3 — 8022 + 7222 — 120
= 48x3 — 8x% — 93z — 45
=> Ans - (C)
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Question 5 W
Divide 32 mt”o two parts such that the sum of the square of the parts is 674. What is the value of the

parts? i
/ |

LN
A 22,10 \--:_f

B 30,2
C 25,7

D 20,12 %

Answer: C /
/ /'?/ N
Explanation: | 1\.\\_/)

Let the first part = 2 and second part = (32 — z) / =

BV =K
According to ques, => (z)2 + (32 — z)2 = 674 / {/— \
=> 22 1 (22 + 1024 — 64z) = 674 ’/q‘l W/

N =
=> 22?2 — 64z + 1024 — 674 =0 \ j
=>22-322+175=0 C\
~

=>7z2 - 252 — Tz +175=0 \\\

=> z(x — 25) — 7(z — 25) = ( /
=>x(z —25) —7(x—25) =0 \\\/)

=>(z—25)(x—7)=0

=>gx =257 /\b
=> Ans - (C) s\ ———

Question 6 \
+4)?is

If (4x -5) = (3x -1), then the numerical value of

v
A 16 (
\//
B 64 \ j
c 32 =
Answer: B l/
N
Explanation: 0
Given : (4x - 5) = g
=>4r—3x=5-—1 \\
=>zr=4 v
/\
&
To find : (z/+ 4)?
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Question 7 .
y
If 2(3x + 5) > 4x - 5 < 3x + 2; then x can take which of the fcyowi g values?

y- -
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Cc 8

D 10

Answer: B
Explanation:
Expression 1:2(3x +5) >4x-5
=>6x+10>4z -5

=>6x —4x > —5—10
=>2x > —15

~15
=>I> 2 - (i)
Expression 2 : 4x -5 < 3x + 2
=>4r—3xr<2+5
=>x <7 - (i)

—15

Combining inequalities (i) and (ii), we D2 <7

The only value that x can take = 6
=> Ans - (B)
Question 8

If 51.97 -(81.18 -x ) -59.39

then value of x will be

A 24912
B 68.492
C 093.868

D 197.8

Answer:

Explanation:
Expression : 51.97 -(81.18 -x ) -59.39 = 5.268

=>51.97-81.18 + x = 5.268 + 59.39
=>-29.21 + x = 64.658

=> X = 64.658 + 29.21

=> x = 93.868

=> Ans - (C)

Question 9

What should be added to 3(x-2y) to obtain 2(3x + y) -

A 8y-7x-15
B 8y-7x + 15

C 8y+7x+15 x
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p 8y +7x-15

Answer: A (
o f
SN \\ -
Explanation: X, == —
Let m should be added to 3(x-2y) to obtain 2( 3X~+ y) 5(2x + 3)
=> (m) + [3(z — 29)] = 232 +) - 52 + ) A
_>m+3$—6y—6w+2y—10w—/1/5’
=>m = (2y + 6y) + (—4z — 3z) —llg'g i
\. /"'
=>m=8y—Ter—15 \\\‘-»——{f/
=> Ans - (A)
f//— /
\SSC Free Preparation App
Question 10 ( ,/
If 1/6 of x - 7/2 of 31:7 equals - 7/4 then the value of x is
\ \
A -15 \ \{;\\
9
B 3 y-
V4
/

Cc -25 (( o
o \\\—j//

Answer: A

Explanation:
According to ques,

1 —7 ,.//7
=> (6 X z) — (2 X 7) / /

T 3 -7 '
=>6—2 y y PR\
IS gy ()
= e — I f / / v -.‘.‘ ‘\/f/',

T - I / > / ST
=> 6 = ' /’J C:/ /"—_\éf\

-6 / { \
=>z= 4 =-1.5 57 | ]
& \LR\\//}
=> Ans - (A) \"'\. j»ﬁ/
S
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